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B.Com. (Part - III) Examination, 2022
(Compulsory)
Old Course
Paper First

INCOME TAX

Time : Three Hours] [Maximum Marks:75
[Minimum Pass Marks:25

 


Note: Attempt all the five questions. One question
from each unit is compulsory. All questions
carry equal marks.

1/Unit - 1

1. 


P.T.O.
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


i `

ii `

iii `

iv `




Mr. Anirudh had estate of Rubber, Tea & coffee. He
derives income from them. He also has a nursery
wherein he grows plants and sells for the previous year.
He furnishes the following particulars:

(i) Income from rubber production `2,75,000

(ii) Income from growing and selling of coffee
`19,25,000

(iii) Income from Tea Estate `3,85,000

(iv) Income from sale of plants in nursery
`55,000

You are required to compute the taxable income for
the assessment year 2021-22
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/OR



i
`

ii `

iii̀ 
 `

iv `

v `

vi
 `

vii `




During the financial year Ram Chandra had the fol-
lowing taxable incomes:

(i) Salary received in India for services rendered in
Pakistan. `1,00,000

(ii) Income from profession in India but received in
Japan. `30,000

P.T.O.
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(iii) Property income in Malaysia (out of which
`30,000 was remitted to India) `60,000

(iv) Profit earned from business in Raipur `50,000

(v) Agriculture income from Kenya `10,000

(vi) Profit from business carried on at Nepal but con-
trolled from India `2,00,000

(vii) Past untaxed income brought to India.`10,000

Compute the total income of Mr. Ram Chandra in vari-
ous residential status in the A.Y. 2021 - 22.

2/Unit - 2

2. 

 

 

 

Write short note:

1. House Rent Allowance

2. Rent Free House

3. Entertainment Allowance
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/OR



 

 

 

 

Write Notes:

1. Standard Deduction

2. Interest on loan

3. Rules regarding unrealized rent

4. Income from house property which are exempted

3/Unit - 3

3.  


Explain clearly the deductions that are expressly
disallowed in computing the income from business
under the provision of Income Tax Act.

P.T.O.
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/OR



(i) % `

(ii) % `

(iii) % `

(iv) II  `

(v) % `

(vi) % `

̀ 
̀ 


Investment of Mr. Krishna are as follow:

(i) 10% Govt. Securities `60,000

(ii) 10% Agra Municipal Bond `40,000

(iii) 9% Bombay Port Trust Bond `50,000

(iv) 7 years N.S.C. (II issues) `15,000

(v) 7% Gold Bonds `20,000

(vi) 7% National Plan Certificate `8,000
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He paid commission ̀ 70 for collection of interest and
`1000 interest on loan for purchase of bonds. Com-
pute taxable income for the A.Y. 2021-22

4/Unit - 4

4. 


Discuss in detail the provision regarding set off and
carried forward of losses relating to Short Term and
Long Term capital losses.

/OR




 
 `

 
 `

  `

  `

  `

   


P.T.O.
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The income of an individual for the year ended 31st
March, 2021. Consist of the following:

(i) Business profit (After Setting off  ̀ 20,000)
paid on Donation to the C.M. Relief Fund.

`2,40,000

(ii) One fourth share from an association of per-
sons in which he was a member. `8,000

(iii) Interest on Govt. securities `8000

(iv) Income on Unit of M.F. (Gross) `6000

(v) Winning from lottery (Net) `70,000

Compute the total income from the assessment year
2021 - 22.

5/Unit - 5

5. 


Who is Commissioner (Appeal)? Discuss the proce-
dure of filing an appeal to the Commissioner (Appeal).

/OR
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
`
̀ 



Cargo Company Limited estimates its income for the
previous year 2020-21 at ̀ 2,60,000 Besides this in-
comes it has also earned Long Term Capital Gain of
`70,000 on sale of land on 1st Dec. 2021. Compute
the advance tax payable by the company in various
installments.


